gartenpro

il

PROD.Nr.:

Z 3427 28 FOROBO

Art.Nr. G2224646

Ean.Nr. 5999553060799

1415

Gartenpro Kift.
9444 Fertészentmiklos
Soproni uti ipartelep

HUNGARY

16
1415-CPR-43-(C-80/2015)

ETA-15/0873
ETAG 007

Hout voor Outdoor Life Products blokhutten en tuinhuizen is vooral afkomstig uit gecert-
ficeerde en goed heheerde bossen.

, ‘ ‘ Wood used for our Outdoor Life Products cabins and garden houses is mostly sourced from certi-

fied and well-managed forests.
Das Holz fiir Outdoor Life Products Blockbohlenhéuser und Gartenhauser wird groBtenteils aus zerti-

~f fizierten Waldem bezogen.
PEFC Les bois pour chalets et maisons de jardin de Outdoor Life Products proviennent en grande partie de forets cerf
DEFC/4131.24 figes et gerées durablement.

Gartenpro Kft., www.gartenpro.hu - www.outdoorlifegroup.nl
Soproni Uti Ipartelep, 9444 Fertészentmiklds, Ungarn




//
//
v/ [ ]/
I 7/ 4/

) N/ -
N\




1A |G60613356 - NN 40X60X2700 2X
1B |G60613409 . NN 40X60X3000 2x
1C |G60613320 — NN 40X60X400 2x

2. | G2224659 28x76x2880 2X
3. | G2220646 28x143x2880 26X
4. | G2224660 28x143x3280 2X
5. | G2220679 28x143x3580 14X
6. | G2227639 28x143x3580 1X
7. | G2220688 28x143x390 20X
8. | G2224669 28x143x2290 6X
9. | G2224670 28x143x630 7X
10. | G2230418 - _ 28x548x3580 2X

11. |G43903280| | - AL

12.|G2222275 | T

13. | G2222381

43X90x3280 3X
15X99X1962 74X

N
15x95x2040 4X
A\

14.| G2223038
15.| G591124 <> 19x145x250 | 2X

12x42x2040 8X

16A| G530027 EDH-G 1X

\
§

16B| G547001 ED-28/34 1szett

17A| G530058 Eﬂ% DRHB 1X

17B| G546998

DR28/34 1szett

\
\
\

17C| G5150076 NN 19x65x1310 2X
18.| G7061197 o KellCs.2525 1x
19. | G6099908 ] Buiding instr.|  Utm. Epitési | 1X
20. | G6065190 2 || General Conditions| Utm. Altalanos | 1X

© GARTENPRO Kift. - v060721- -3- www.gartenpro.hu- www.outdoorlifegroup.nl



OUTDOOR|
L LT
il

artno. 501270

v 26MM | []

© GARTENPRO Kit. - v060721-

www.gartenpro.hu- www.outdoorlifegroup.nl




- -~

www.gartenpro.hu- www.outdoorlifegroup.nl

© GARTENPRO Kit. - v060721-



ST TPT T TP P PP T2

7

\

/

Q

] A \ A W VA W W W W W WA WA WA N §
N 0 0 S 2 2
7,
\ .
L
Z w ~
L
L
L
/
g/

L L L LV L L L L L L)

/
/

7

L
L
\\
L

//

p—l\ﬂﬂwm

LAY LAY AN

)/
C % )/
. \ \N\ 7/
ez

%ﬂ/§\\\\\\\\\\\\\~

\ /A S S S S S S S S
fa

0 AN AN ALY

www.gartenpro.hu- www.outdoorlifegroup.nl

© GARTENPRO Kit. - v060721-



3.

I8

H 3,5x25mm (3x)

5. Jg\“

ﬂ 3,5x25mm (4x)

-

D
_ ﬂ 3,0x15mm
(3x)
- /’/M "ﬁ
/? 1!’@
e
s
§
L

AA-002

© GARTENPRO Kft. - v060721-

-7- www.gartenpro.hu- www.outdoorlifegroup.nl




/880dH 3AISNI

3AArIZN3INNIg
JLIISNINNI
MBJOS WWGEXS'S JAISNI
0z - agneIyds WWGEXS'S ~ - JAr1IZN3IaNNIg
80JYdS WWGEXS" J -
i TEe J1I3SN3NNI
ilipaid it _
jUBJ0CI00A it
jusiyogJon m

vV 11v13d

(-sod} |) M8I0S WWGEXG'E
(1s11) egneIyos WWGEXG'e
(S| 1) Jo0IYoS WWSEXG'E

O-dN3d NW8Z HA3F SNOILONYLSNI ATaNISSY
D-dN3d INW8Z HA3 ONIMIMEHOSIaMNOGdO
O-dN3d NW8Z HAT ONNLIFTINVIOV.LNON




DRHB

903

<

© GARTENPRO Kft. - v060721-

www.gartenpro.hu- www.outdoorlifegroup.nl




MONTAGEANLEITUNG DRHB 127-28MM RAAM-G
OPBOUWBESCHRIJWING DRHB 127-28MM RAAM-G
ASSEMBLY INSTRUCTIONS DRHB 127-28MM RAAM-G

DETAIL A
N 28 mm —‘ \
> : vorbohren!
L& i voorboren!
il predrill!
’ § 3,5x35mm schroef MY

3,5x35mm schraube
3,5x35mm screw

\ » INNENSEITE
\ A BINNENZIJDE
NS N INSIDE
h AL N N P~
INNENSEITE »~ I ™S gl
BINNENZIJDE I AN

INSIDE N AN
N pi

3,5x35mm schroef (14st.)
3,5x35mm schraube (14st.)

3,5x35mm screw (14pcs.)
HP0886




y Ay 4

7, WA W W W WL WL W L WL WL VAL WL

© GARTENPRO Kit. - v060721- -11- www.gartenpro.hu- www.outdoorlifegroup.nl




POS A |'
12 = © 15x99x1962 74X | | _=
= -,
=

A

S |444X

D2,5x50

LU R T T N

e e

\ J\ ]

. 2 2 -

—
~
~

Omm

Omm

© GARTENPRO Kit. - vO60721- -12- www.gartenpro.hu- www.outdoorlifegroup.nl




POS

14

12x42x2040 4X

POS14

+€

+E N

+€

70,77
A

+€

+€

7

POS14

POS14

3,5x25mm

Iy
5

)
PN

~

\
&

www.gartenpro.hu- www.outdoorlifegroup.nl

-13-

© GARTENPRO Kit. - v060721-



POS
13 %

14 N

15x95x2040 4X
12x42x2040 4X

NN

3,5x25mm

© GARTENPRO Kit. - v060721-

www.gartenpro.hu- www.outdoorlifegroup.nl



-15- www.gartenpro.hu- www.outdoorlifegroup.nl

-v060721-

© GARTENPRO Kit.



